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VoE A RYIFLUE ¢ 100 x 5,000 x 23| 5.000 5000 x( 2 + 17 4+ + 4 )= 115.000
JKEEKE A T-VINEE
RYIFLUE ¢ 100 x 5,000 x 5 PERELY )= 20452 YIEH
RUIFLUER w2
EF45° RUFK ¢ 100 x 45° & 8 0.380 0380 x( 2 + 2 + 2 + 2 )= 3040
RUIFLUER w2
EF11° 1/4~"VK $100x11° 1/4 & 2 0.280 0.280 x( + + 2 + )= 0.560
RUIFLUER A%
EF90° R K ¢ 100 x 90° & 2| 0610 0610  x( + + 1 + 1 )= 1220
RUIFLUER A%
EF45° RUK ¢ 100 X 45° & 2| 0.490 0490 x( + + + 2 )= 0980
RUIFLUER A%
EF22° 1/2_VRK $100x22° 1/2 & 1/ 0.390 0390 x( + + + 1 )= 0.390
RUIFLUER A%
EF11° 1/4XRUF $100x11° 1/4 | & 2. 0.400 0400 x( + + 1 + 1 )= 0800
RUTFLUERA w2 (1)) 0.400 0400 x( + + 1 + = 0.400
F—X @150 % ¢ 100 & X ( + + + =
RYIFLUER w2 (2)| 0.300 0300 x( 1 + + + 1 = 0.600
F—X $ 100 x ¢ 100 & 2| 0.140 0.140  x( + 2 + + = 0.280
RYIFLUER w2 (2)| 0.140 0140  x( + + 1 + 1 = 0.280
MWV TFE ¢ 100 X ¢ 100 & 2| 0227 0.227 x( + + 1 + 1 )= 0454
RUIFLUER
LTa—% $100% ¢ 75 1& 1/ 0.400 0400 x( + 1 + + )= 0.400
RUIFLUER A%
EFOSVUREEIS ¢ 100 (GF%Y) & 2| 0.180 0.180  x( + + 1 + 1 )= 0.360
RUIFLUER
EFOSVURE2S ¢ 100 (GF%Y) & 2| 0.320 0320  x( + + 1 + 1 )= 0640
RUIFLUER
EFYryk ¢ 100 & 5 1 + 1 + 1 + 2 = 5
GFF%-7.5K
PEHR O SHHETFE $100% ¢ 75 1& 3, 0.790 0790  x( + 1 + 1 + 1 )= 2370 ZTEHF
BEER 779V B Fr 4
THIKTFE @150 x ¢ 100 1& 1] 0352 0352  x( + + 1 + )= 0.352
B ER 779V B Fr 4
THIKTFE @150 x ¢ 100 1& 1] 0.346 0346  x( + + + 1 )= 0346
susa7 ¢ 100 1& 1 1 = 1
PEfEO{f+Y7h -85 ¢ 100 & 2| 0.860 0.860 x( + + 1 + 1 )= 1720
w2
MEYIN-MME S ¢ 100 & 3| 0.200 0200 x( 1+ + 1+ 1 )= 0600
- F ¢ 100 & 2| 0.250 0250  x( + + 1+ 1 )= 0500
ISV HEER ¢ 100 & 2 + 1+ 1 =2
PEP
PEE $ 100 & 3 + 1 + 1 + 1 = 3
PEP x PEP
PPYaAf Uk $ 100 & 3 0.064 0064 x( + 1 + 1 + 1 )= 0192
G25-Z2%
EEERNSETLA NOEBA-T5K | K 3 1 + 1 + 1 = 3
¢ 75-H150-7.5K- iz =2
F-LEBESF FCD | RS EIHA-LAN-K H 3 1 + 1 + 1 = 3
wWiERA
IS5 R ER 675 & 3 1 + 1 + 1 = 3
wWiERA
2o wme R ¢ 100 1& =
RF-GF Fiile2 8
RARITIVH Rvb ¢ 75-7.5K " 3 3 = 3
¢ 75-7.5K TERH
IV HMFM GFSH A9hSUS304-BN | #H 3 3 = 3
RF-GF Fiile2 8
RARITIYH RAvb ¢$100-7.5K " 2 2 = 2
¢ 100-7.5K 5EE s
IV HMFM GFSH A9hSUS304-BN | #H 4 2 + 2 = 4
EELER = 151.936
ERILER T TR ENiv
BERRT—T W=50 m 146.0 151936 - 2820 - 2370 - 0.698 = 146.048
BHERBRER)—T ¢ 100/ m | 2006 ( 151936 - x{60x( 1+ 01) + 51} = 200560
100mH Y
RERER) -7 RT-7 m 93.0 151936 x 612 <+ 100 = 92.985
FILZ TEERE  HUH ERF K
HERIZES— W=150 24& m 143.0 148.908 - 2.820 - 2370 -  0.698 = 143.020




HPPE ¢ 100mmEckKEFERT #MEFES

1.236m = 151.936m (148.908m)

ek -+ 481 0.70m~1.40m NO. 2
E 1 R A
TI7E £ _# BT E Hl 4 8 BHE E _Z
H#
BEEA
THIKE S LT F ¢ 150 £ 1 1 1
B ER
THIKE S LT F ¢ 150 £ 1 1 1
1.000 0.330 1.000 = 0.330
BrE&aH1)—b 1.00x0.33%1.00 | &fkr 1 0.023 1.000 2 = 0012 BB 110
50
avyl)—k 18-8-20 m3 0.3 0.330 0.012 X1 0.320
0.900 0.400 0.800 = 0288
BrE&aH1)—b 0.90x0.40%0.80 | &iFk 1 0.023 0.800 2 = 0.009 BEER 110
50
avyl)—k 18-8-20 m3 0.3 0.288 0.009 X1 0.280
BEER
VPH &g ¢ 150 & 1 1 1
B ER
DIPFH &8 ¢ 150 1& 1 1 1
¢ 250 H=0.90 H=1.10 H=1.30 H=1.95 H=2.15
U R%E C15xTK " 7 2 2 1 + 1 + 1 7
TtUHH 250
LY Uik'yhA SHEEH H=100 1& 1 + + 1 1
TtUHH ¢ 250
L WYL L TF& H=150 1& + +
TtUHH 250
L WYL L TF& H=300 1& + +
TtUHH 250
LY Uik'y)R L& H=150 & 7 2 2 1 + 1 + 1 7
TUIsH 250
Ly Uik yh R & H=100 @ + +
TUIsH 250
Ly Uik yh R & H=200 @ 4 2 1 + 1 . 4
TUIsH 250
Ly Uik yh R & H=300 & 8 1 + 3 + 4 8
TtUHH 250
LY Uik'y)R T& H=300 & 7 2 2 1 + 1 + 1 7
TtUHH 250
LY Uik'y)R EER(Mfz) H=40  {& 7 2 2 1 + 1 + 1 7
¢ 500 H=0.70
ERTAHKE M35 " 3 3 3
EXRFH ¢ 500
DLWV L& H=200 & 3 3 3
EXRFH ¢ 500
DLWV T& H=300 & 3 3 3
EXRFH ¢ 500
DLWV EEB(FfZ) H=40 | {& 3 3 3
H=0.90 H=1.10
FE YR H=300 X 2 1 1 2
H=1.30
FE YR H=500 X 1 1 1
H=1.95 H=2.15
FE YR H=1000 X 2 1 1 2




HPPE ¢ 100mmiic’kKEh

BT BEHES

1.236m = 151.936m (148.908m)

R T #Y:0.70m~2.15m NO. 2
g H O’
TFE - BT E E x & B %
FE [#ET]
mbIE eI
RYUIFLUERMAGT ¢ 100 m 150.2| 151.936 — 1.720 150.216
1O#F) ZOEE Fra5 22 A1 90 1
EF#FT $ 100 13 52 23+ 2+ 1 2+ 2 2
45 11
8 X 2 + 2 2 + 52
(2O0#F) Yok F-2'100
EF#FT $ 100 13 7 5 + 2 4+ 7
UIERAELY
RYIFLUEYRT ¢ 100 a 17, 17 17
VPETE
BESRIEE B T ¢ 150 m 2 1 x 2 2
DIPE 18
BRER SRSk E I T ¢ 150 a 2 1 x 2 2
VP
B ERE ¢ 150 m 1.0, 1.000 1.000
DIP
B ERE ¢ 150 m 1.0, 1.000 1.000
"=E1 mE2 T
IV MFT ¢ 100 &T 6 2 4+ 2 + 2 6
BEEER
THrKERT $150x 100 | E&FF 1 1 1
H%ER
THrKERT $150x ¢ 100 | E&FT 1 1 1
susar
a7#EAL ¢ 100 ERT 1 1 1
RUIFLUE PEIE PPy 3{ub
AN=HIVHFT ¢ 100 ] 9 3 + 3 x 2 9
VPETE
AN=HIVHFT ¢ 150 ] 1 1 1
$ERR(15%1EL) DIPE g
AN=HIVHFT ¢ 150 ] 1 1 1
PEE
AA=HIBMFRSALT ¢ 100 [m] 1 1 1
YN~ Y7k PLYRS
HUHFRET ¢ 100 = 7 2 4+ 3 + 2 7
ERAHRETL $25 = 3 3 ERF - wER 3
ITUOMFT ¢75 15K m] 3 3 wWERF - FHTF 3
BERRT—7 W=50 m | 146.0 146.048
RBEMER-THE ¢ 100 m 151.9 151.936
FILZ
HERAZH S —F W=150 2f&% m 143.0 143.020
BKE
EKEERT BEER B s m | 151.9) 151.936 151.936
K B L5 BEER
HET ¢ 150 [E138 1 1 1
K B L5 B ER
HEI ¢ 150 [E138 1 1 1
avyy—hk 18-8-20 m3 0.32| 032 0.32
BrEgaro1)—k @@ 0330 X 1.000 2 = 0.660
B 1.00%0.33%1.00 | m2 1.3 hER 0330 x  1.000 2 = 0660 ER0)
0023 X 2 2 = 0023 Bk
(0660 + 0.660 0.023) x 1 1.300
avyy—hk 18-8-20 m3 0.28| 028 0.28
BrEgaro1)—k @@ 0400 X 0.800 2 = 0.640
B 0.90x0.40%0.80 = m2 04 HER 0400 x  0.900 2 = 0720 +I®
0023 X 2 2 = 0023 Bk
(0640 + 0.720 0.023) x 0 0.430




HPPE ¢ 100mmEc’kERRT HEFHES

1.236m = 151.936m (148.908m)

R M T #Y:0.70m~2.15m NO, 2
g H O’
TFE - BT E E x & B %
FE [#E4T]
¢ 500
ERFAKEEAT M35 &T 3 3 3
ZERFH ¢ 500
LY Uy A m T T L& H=200 & 3 3 3
ZERFH ¢ 500
LY Uy A m T T T& H=300 & 3 3 3
ZERFH ¢ 500
LY Uy A m T T EE(HfZ) H=40 | & 3 3 3
(i) 250 H=0.90 H=1.10 H=1.30 H=1.95 H=2.15
Y RASSREMAT crisxroxK & 7 2 2 + 1 + 1 + 1 7
TtUHH ¢ 250
LY Uk vy T A H=100 & 1 + + + 1 1
TtUHH ¢ 250
LY Uy A m T T L TF& H=150 1& + + +
TtUHH ¢ 250
LY Uy A m T T L& H=300 1& + + +
TtUHH ¢ 250
LY Uk vy T L& H=150 & 7 2 2 + 1 + 1 + 1 7
TtUHH ¢ 250
LY R I REA T &8 H=100 & + + +
TtUHH ¢ 250
LY Uk vy E T & H=200 & 4 2 + 1 + 1 + 4
TtUHH ¢ 250
LY Uk vy E T & H=300 & 8 + 1 + 3 + 4 8
andIEr ] ¢ 250
LY Uk vy E T T&F H=300 & 7 2 2 + 1 + 1 + 1 7
TtUHH ¢ 250
LY Uy A m G T EER(MHfZ) H=40 (& 7 2 2 + 1 + 1 + 1 7
[£T]
¢ 100 BRER (2)
EEIETD-2 RESE m 840 840 84.0
¢ 100 BRER (1) ERERE(2)
EEIETO-2 BEEAD m 205 150 55 205
¢ 100 SR (1)
EEIETO-4 BEHAD m 2.0 20 2.0
¢ 100 S (2)
EEIETO-5 BEHAD m 2.0 20 2.0
¢ 100 SR (1) SR (2)
EEIET@-1 TEEE m 25.6 74 07 + 175 25.6
¢ 100 SR (1)
REITT@-2 MEHEE m 18 18 1.8
¢ 100 S (2)
EEITT@-3 MEHEE m 2.0 20 2.0
¢ 100 S (2)
EEIETB-1 MEHEE m 9.9 9.2 07 9.9
100 SEE (1)
EHILI® HEEE m 1.0 1.0 1.0
100 SR (2)
EHLI® HEEE m 1.0 1.0 1.0
18 ¢ 150 SR (1)
EEIETE-1 MEHEE m 1.0 1.0 1.0
18 ¢ 150 S (2)
EEITT®-2 MEHEE m 1.0 1.0 1.0
S EIFF & 150 S (1)
EHILTIO MEHEE m 14 14 1 BT 14
S EIFF & 150 S (2)
EAIL T MEHEE m 14 14 1 BT 14
[+88T]
B2MRAREET LSP-2%! W=250 | &l +I®4 1D TI®
H=2.0m 1BX#& 1=TAH m 44 20 10 + 14 4.4
B2MRAREET LSP-2& W=250 | &l +I®5 +I@2 +I@-3
H=2.5m 1BRX#& 1=TAH m 5.8 20 + 18 + 20 5.8




El7k% HPPE ¢ 100 EIEFHE o NOVESHE O = Y% = 0.30m
9 . )
W | om | o
He K| E S |IEE BRI OE S |IBE B OE S|IBE BRE SIES BROE S

1 PP 0.350] 2 PP 0.510] 3 PP 2.880] 7 PP 1.200 4.940 0.060 4

0.35 0.51 2.88 1.20 23 5%
4 PP 1.7501 5 PP 1.388] 6 PP 1.590 4.728 0.272 3

1.75 1.39 1.59 b33 23 5%
8 PP 0.625] 9 PP 1.000]| 10 PP 1.594] 11 PP 0.468 3.687 1.313 4

0.63 1.00 1.59 0.47 23 5%
13 PP 0.300] 14 PP 1.7501 15 PP 1.671 3.721 1.279 3

0.30 1.75 1.67 b33 23 5%
16 PP 2.016] 17 PP 1.000] 12 PP 0.360 3.376 1.624 3

2.02 1.00 0.36 b33 23 5%
T —r U NESS HPPE ¢ 100 L = 5,000 5 i N 20.452 4.548] 17




%6

mELtT Y I
I N e e e R | I LR o 2 e B
+T ®-2 T @2
ALE X (2) — 0.70 - - A (D) - 1.30 -
77.638 0.70 0.70 54.347 15.000 1.30 1.30 19.500
0.600 1.30 1.00 0.600
0.260 1.30 1.30 0.338 Al (2) - 1.30 —
5.502 1.30 1.30 7.153 5.500 1.30 1.30 7.150
& 8 84.000 62.438 & 8 20.500 26.650
LTTHER = 84.000 m LTTHER = 20.500 m
FHHHY =  62.438 + 84.000 = 0.74 m FHHHY =  26.650 <+ 20.500 = 1.30 m




%6

mELtT eSSkt ) OB &
I N e e R | I LR o 2 e B
+T @-1 +T &1
S I EERAA(1) - 0.70 — - SP I EE A (2) - 0.70 — —
1.920 0.70 0.70 1.344 6.467 0.70 0.70 4.527
2.334 0.70 0.70 1.634 0.346 1.05 0.88 0.304
0.888 0.88 0.79 0.702 0.414 1.05 1.05 0.434
0.374 0.88 0.88 0.329 1.974 1.05 1.05 2.072
1.974 0.90 0.89 1.756
SR EE AP (2) - 0.70 — —
17.500 0.70 0.70 12.250
& i 24.989 18.015 & i 9.200 7.337
TR = 24.989 m TR = 9.200 m
FH AW =  18.015 + 24.989 = 0.72 m FHEY =  7.337 + 9.200 = 0.80 m




T I ¥ R K i %
No. 2-1 NO. 1 TI®D-2 NO. 2 +I®-2 NO. 3 +IQ-4 NO. 4 +I®-5 NO. 5 TI@-1 0.6 TI@-2 NO. 7 TI@-3 NO. 8 +IG-1
100mmHPPEEZ K & 84.0 “EE L 20.5 “EE L 2.0 “EE L 2.0 “EE L 25.6 “EE L 1.8 “EE L 2.0 “EE L 9.9 “EE L
SEE L SEE L SEE L SER L SER L SER L SER L SER L
£ i i 1 N E
AsEliZEhR 2.00 19. 80 19.80 )
SEUMT t=15cmA T m
AsEiZEhR 0. 60 5.94 5.94)
SHERREFA T [t=10cmA T m2
BHO. 28m3 0.44 36.96 0. 65 13.33 1.56 3.12 1.74 3.48 0. 36 9.22 1.65 2.97 1.83 3.66 0.53 5.25 77.99)
AR R T ME L m3
BHO. 28m3 0.19 15. 96 0.19 3.90 0.28 0.56 0.28 0.56 0.19 4.86 0.28 0.50 0.28 0.56 0.19 1.88 28.78)
HHERT BER m3
BHO. 28m3 0.25 21.00 0.45 9.23 1.26 2.52 1.44 2.88 0.16 4.10 1.35 2.43 1.53 3.06 0.21 2.08 47.30 )
HERT HESL m3
(RC-30) 0. 60 5.94 5.94)
TREERET t=10cm m2
(RM-30) 0. 60 5.94 5.94)
LRERET t=12cm m2
BAZTHLAs13mm 0. 60 5.94 5.94)
B R 18 16 t=3cm m2
BitunT 0.16 13. 44 0.15 3.08 0.16 0.32 0.14 0.28 0.18 4.61 0.15 0.27 0.13 0.26 0.30 2.97 25.23)
(£8) 41DT m3
BitunT 0.03 0.30 0.30)
(AS) 4tDT m3,
ZAE 0.07 0.69 0.69)
ASH% t




T I ¥ R K i %
No. 2-2 NO. 9 TI® NO. 10 TI® NO. 11 TI®-1 NO. 12 +I®-2 | NO.13 +I© NO. 14 I
100mmHPPEEZ K & 1.0 “EE L 1.0 “EE L 1.0 “EE L 1.0 “EE L 1.0 =& N 1.0 =& N “EE L
SEE L SEE L SEE L SEE L =g&ifr N =&ifr N SEE L
£ i i 1 N F & & BER=

AsEliZEhR 2.00 2.00 2.00 2.00 2.00 2.00 2.00 2.00 5.60 5.60 5.60 5.60 19.20 39.00 )¢ 39)

SEUMT t=15cmA T m
AsEiZEhR 1.00 1.00 1.00 1.00 0. 60 0.60 0. 60 0.60 1.96 1.96 1.96 1.96 7.12 13.06 )| ( 13)

SHERREFA T [t=10cmA T m2
BHO. 28m3 1.32 1.32 1.52 1.52 0.67 0.67 0.79 0.79 2.47 2.47 2.96 2.96 9.73 87.72 )] ( 90 )

AR R T ME L m3
BHO. 28m3 0. 65 0.65 0. 65 0.65 0.26 0.26 0.26 0.26 0.87 0.87 1.01 1.01 3.70 32.48 )| ( 30)

HHERT BER m3
BHO. 28m3 0.45 0.45 0. 65 0.65 0.27 0.27 0.39 0.39 0.88 0.88 1.27 1.27 3.91 51.21 )] ( 50 )

HERT HESL m3
(RC-30) 1.00 1.00 1.00 1.00 0. 60 0.60 0. 60 0.60 1.96 1.96 1.96 1.96 7.12 13.06 )| ( 13)

TREERET t=10cm m2
(RM-30) 1.00 1.00 1.00 1.00 0. 60 0.60 0. 60 0.60 1.96 1.96 1.96 1.96 7.12 13.06 )| ( 13)

LRERET t=12cm m2
BAZTHLAs13mm 1.00 1.00 1.00 1.00 0. 60 0.60 0. 60 0.60 1.96 1.96 1.96 1.96 1.12 13.06 )| ( 13)

B R 18 16 t=3cm m2
BitunT 0.82 0.82 0.80 0.80 0.37 0.37 0. 36 0.36 1.49 1.49 1.55 1.55 WEFRA 5.39 30.62 ) ( 30)

(£8) 4tDT m3, 9.56 21.06 20

BitunT 0.05 0.05 0.05 0.05 0.03 0.03 0.03 0.03 0.10 0.10 0.10 0.10 0.36 0.66 )| ( 0.7)

(AS) 4tDT m3,
2AE 0.12 0.12 0.12 0.12 0.07 0.07 0.07 0.07 0.24 0.24 0.24 0.24 0.86 1.55 )| ( 1.6)

ASH% t




+ I # it B =
No, 1
WA =  (@D-2 HPPE# 100 L= 84.0 m
Bt B = Rl H= 0.74 m
EHEEE = 0130 X 0130 X =z / = 0.013
=P = X X z / =
Im2%47
% EA H | & & =
BRI T
AsEHHEIR t=15cmEL T 1.00 X 0 = m 0.00
BHLEERR A T
AsBHEER t=10cmll 1.00 X 0.00 = m2 0.00
AT BHO.28m3
- E A - FEE A 1.00 X 0.60 X( 0.87 — 0.13 )= m3 0.44
T BHO.28m3
LRI AT 1.00 X 0.60 X 0.33 — 0.013 = m3 0.19
PHECT BHO.28m3
LN A 1.00 X 0.60 X 0.41 = m3 0.25
AT (RC-30)
t=10cm 1.00 X 0.00 = m2 0.00
/BT (RM-30)
t=12cm 1.00 X 0.00 = m2 0.00
BRIBTITE H (A #EAs 1 Smm, A 77)
t=3cm 1.00 X 0.00 = m2 0.00
LG T 4DT Al AL
FEAS 177 044 —( 0.25 = 0.90 )= m3 0.16
FELH T 4tDT
FEAS TAT7 W% 1.00 X 0.00 X 0.00 = m3 0.00
EIN
TAT7 /iR 0.00 X 235 = t 0.00




H
H
32
il
o
o
i

No,2
WrigiEs = (@-2 HPPE#100 L= 20.5 m
B B = SR H= 1.30 m
EHEEE = 0130 X 0130 X =z / = 0.013
BEHE = X X z /J 4 =
Im2%47
% EA H | & & i =
BRI T
ASETEFERR t=15cmLL T 1.00 X 0 = m 0.00
LR T
AsBHEER t=10cmll 1.00 X 0.00 = m2 0.00
A T BHO.28m3
B LI - - BEE - 1.00 X 0.60 X( 1.43 — 0.35 )= m3 0.65
TR 1. BHO.28m3
LN AR 1.00 X 0.60 X 0.33 — 0.013 = m3 0.19
HHET. BHO.28m3
BN FEAE A 1.00 X 0.60 X 075 = m3 0.45
TSI T (RC-30)
t=10cm 1.00 X 0.00 = m2 0.00
/BT (RM-30)
t=12cm 1.00 X 0.00 = m2 0.00
BRIBTITE H (A #EAs 1 Smm, A 77)
=3cm 1.00 X 0.00 = m2 0.00
FELH T 4DT mElt+ mHEt
FBUAL | 065 —( 0.45 =+ 0.90 )= m3 0.15
FEFH T 4DT
TGS TR bEE 1.00 X 0.00 X 0.00 = m3 0.00
EIN:
TR 7 0.00 X 235 = ¢ 0.00




+ T % it B &
No,3
Wrigis 5 = B-4 HPPE$100 L= 2.0 m
Bt B = R H= 1.95 m
EHRE = 0130 X 0130 X 1 / = 0.013
=P = X X z / =
Im2%7
% EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 0 = m 0.00
BT 1
AsBHEER t=10cmll 1.00 X 0.00 = m2 0.00
et 1. BHO.28m3
1 P E A - BEE A 1.00 X 0.90 X( 2.08 — 0.35 )= m3 1.56
HEEZ 1. BHO.28m3
SN D AR 1.00 X 090 X 0.33 — 0.013 = m3 0.28
PHECT BHO.28m3
SNl TS A 1.00 X 090 X 140 = m3 1.26
AT (RC-30)
t=10cm 1.00 X 0.00 = m2 0.00
LS T (RM-30)
t=12cm 1.00 X 0.00 = m2 0.00
BRIBTITE H (A #EAs 1 Smm, A 77)
t=3cm 1.00 X 0.00 = m2 0.00
FELH T 4tDT EELT WAL
FHAH L4 1.56 —( 1.26 = 0.90 )= m3 0.16
FELH T 4tDT
FFIAB TAT7 /% 1.00 X 0.00 X 0.00 = m3 0.00
BN
TR/ 0.00 X 235 = t 0.00




+ T % it B &
No,4
Wrigis 5 = B-5 HPPE$100 L= 2.0 m
Bt B = R H= 215 m
EHRE = 0130 X 0130 X 1 / = 0.013
=P = X X z / =
Im2%7
% EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 0 = m 0.00
BT 1
AsBHEER t=10cmll 1.00 X 0.00 = m2 0.00
et 1. BHO.28m3
1 P E A - BEE A 1.00 X 0.90 X( 228 — 0.35 )= m3 1.74
HEEZ 1. BHO.28m3
SN D AR 1.00 X 090 X 0.33 — 0.013 = m3 0.28
PHECT BHO.28m3
SNl TS A 1.00 X 090 X 160 = m3 1.44
AT (RC-30)
t=10cm 1.00 X 0.00 = m2 0.00
LS T (RM-30)
t=12cm 1.00 X 0.00 = m2 0.00
BRIBTITE H (A #EAs 1 Smm, A 77)
t=3cm 1.00 X 0.00 = m2 0.00
FELH T 4tDT EELT WAL
FHAH L4 1.74 —( 1.44 + 0.90 )= m3 0.14
FELH T 4tDT
FFIAB TAT7 /% 1.00 X 0.00 X 0.00 = m3 0.00
BN
TR/ 0.00 X 235 = t 0.00




H
H
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o
o
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No,5
Wrigids = @-1 HPPE#100 L= 25.6 m
B B = T EE R XE) H= 0.72 m
EHEEE = 0130 X 0130 X =z / = 0.013
BEHE = X X z /J 4 =
Im2%47
% EA H | & & i =
AL YL
AsEFEEIK t=15cmIL T 1.00 X 0 = m 0.00
BHLEERR A T
AsBHEER t=10cmll 1.00 X 0.00 = m2 0.00
AT BHO.28m3
- E A - FEE A 1.00 X 0.60 X( 0.85 — 0.25 )= m3 0.36
HHECT BHO.28m3
LRI AT 1.00 X 0.60 X 0.33 — 0.013 = m3 0.19
PHECT BHO.28m3
LN A 1.00 X 0.60 X 0.27 = m3 0.16
AT (RC-30)
t=10cm 1.00 X 0.00 = m2 0.00
/BT (RM-30)
t=12cm 1.00 X 0.00 = m2 0.00
BRIBTITE H (A #EAs 1 Smm, A 77)
t=3cm 1.00 X 0.00 = m2 0.00
FELH T 4tDT mElt+ mHEt
FEAS 177 0.36 —( 0.16 = 0.90 )= m3 0.18
FELH T 4tDT
FEAS TAT7 W% 1.00 X 0.00 X 0.00 = m3 0.00
BN
TR/ 0.00 X 235 = t 0.00
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No, 6
Wrigds = @-2 HPPE$100 L= 1.8 m
Wi B = I EE R XE) H= 1.95 m
EHEEE = 0130 X 0130 X =z / = 0.013
BEHE = X X z /J 4 =
Im2%47
% EA H | & & i =
AL YL
AsEFEEIK t=15cmIL T 1.00 X 0 = m 0.00
BHLEERR A T
AsBHEER t=10cmll 1.00 X 0.00 = m2 0.00
AT BHO.28m3
- E A - FEE A 1.00 X 090 X ( 2.08 — 0.25 )= m3 1.65
HHECT BHO.28m3
LRI AT 1.00 X 090 X 0.33 — 0.013 = m3 0.28
PHECT BHO.28m3
LN A 1.00 X 090 X 150 = m3 1.35
AT (RC-30)
t=10cm 1.00 X 0.00 = m2 0.00
/BT (RM-30)
t=12cm 1.00 X 0.00 = m2 0.00
BRIBTITE H (A #EAs 1 Smm, A 77)
t=3cm 1.00 X 0.00 = m2 0.00
FELH T 4tDT mElt+ mHEt
FEAS 177 1.65 —( 1.35 = 0.90 )= m3 0.15
FELH T 4tDT
FEAS TAT7 W% 1.00 X 0.00 X 0.00 = m3 0.00
BN
TR/ 0.00 X 235 = t 0.00
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No,7
Wrigds = @-3 HPPE#100 L= 20 m
Bt B = I EE R XE) H= 2.15  m
EHEEE = 0130 X 0130 X =z / = 0.013
BEHE = X X z /J 4 =
Im2%47
% EA H | & & i =
AL YL
AsEFEEIK t=15cmIL T 1.00 X 0 = m 0.00
BHLEERR A T
AsBHEER t=10cmll 1.00 X 0.00 = m2 0.00
AT BHO.28m3
- E A - FEE A 1.00 X 090 X( 2.28 — 0.25 )= m3 1.83
HHECT BHO.28m3
LRI AT 1.00 X 090 X 0.33 — 0.013 = m3 0.28
PHECT BHO.28m3
LN A 1.00 X 090 X 1.70 = m3 1.53
AT (RC-30)
t=10cm 1.00 X 0.00 = m2 0.00
/BT (RM-30)
t=12cm 1.00 X 0.00 = m2 0.00
BRIBTITE H (A #EAs 1 Smm, A 77)
t=3cm 1.00 X 0.00 = m2 0.00
FELH T 4tDT mElt+ mHEt
FEAS 177 1.83 —( 1.53 = 0.90 )= m3 0.13
FELH T 4tDT
FEAS TAT7 W% 1.00 X 0.00 X 0.00 = m3 0.00
BN
TR/ 0.00 X 235 = t 0.00
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No,8
WrigidEsS = (-1 HPPE$100 L= 9.9 m
B B = e H= 0.80 m
EHEEE = 0130 X 0130 X =z / = 0.013
BEHE = X X z /J 4 =
Im2%47
% EA H | & & i =
BRI T
AsEFEEIK t=15cmIL T 1.00 X 2 = m 2.00
BHLEERR A T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
AT BHO.28m3
Wb A FEE £ 1.00 X 0.60 X( 0.93 — 0.05 )= m3 0.53
HHECT BHO.28m3
L NFRED AR 1.00 X 0.60 X 0.33 — 0.013 = m3 0.19
PHECT BHO.28m3
L NFEED TN A 1.00 X 0.60 X 0.35 = m3 0.21
AT (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #EAs 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
FELH T 4DT mElt+ mHEt
FEAS 177 053 —( 0.21 = 0.90 )= m3 0.30
FELH T 4tDT
FEAS TAT7 W% 1.00 X 0.60 X 0.05 = m3 0.03
EIN
TR/ 0.03 X 235 = t 0.07




T I #% E & & EBE
No, 9
B s = @  VPg150 L= 1.0 m FWAKES 150X § 100
B B = il H= 0.90 m
gEREE = 0170 X 0170 X =z / = 0.023
= R = X X T / =
Im2%47
% EA H | & & i =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
BHLEERR A T
AsBHEER t=10cmll 1.00 X 1.00 = m2 1.00
AT BHO.28m3
Wb A FEE £ 1.00 X 1.00 X( 1.37 — 0.05 )= m3 1.32
T BHO.28m3
L NFRED AR 1.000 X 1.00 X 0.67 — 0.023 = m3 0.65
PHECT BHO.28m3
L NFEED TN A 1.00 X 1.00 X 0.45 = m3 0.45
AT (RC-30)
t=10cm 1.00 X 1.00 = m2 1.00
/BT (RM-30)
t=12cm 1.00 X 1.00 = m2 1.00
BRIBTITE H (A #EAs 1 Smm, A 77)
t=3cm 1.00 X 1.00 = m2 1.00
LG T 4DT Al AL
FEAA 1+ 1.32 —( 0.45 + 0.90 )= m3 0.82
FELH T 4tDT
FEAA TAT7 MR 1.00 X 1.00 X 0.05 = m3 0.05
EIN
TAT7 b 0.05 X 235 = ¢ 0.12




T I #% E & & EBE
No, 10
W5 = (D DIPg150 L= 1.0 m FHKIES 150X $ 100
B B = il H= 1.10 m
gEREE = 0170 X 0170 X =z / = 0.023
= R = X X T / =
Im2%47
% EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
BHLEERR A T
AsBHEER t=10cmll 1.00 X 1.00 = m2 1.00
AT BHO.28m3
- E A - FEE A 1.00 X 1.00 X( 1.57 — 0.05 )= m3 1.52
T BHO.28m3
L NFRED AR 1.00 X 1.00 X 0.67 — 0.023 = m3 0.65
PHECT BHO.28m3
L NFEED TN A 1.00 X 1.00 X 0.65 = m3 0.65
AT (RC-30)
t=10cm 1.00 X 1.00 = m2 1.00
/BT (RM-30)
t=12cm 1.00 X 1.00 = m2 1.00
BRIBTITE H (A #EAs 1 Smm, A 77)
t=3cm 1.00 X 1.00 = m2 1.00
LG T 4DT Al AL
FEAS 177 1.52 —( 0.65 = 0.90 )= m3 0.80
FELH T 4tDT
FEAS TAT7 W% 1.00 X 1.00 X 0.05 = m3 0.05
EIN
TAT7 /iR 0.05 X 235 = t 0.12




+ I # it B =
No, 11
W =  &-1 VPg150 L= 1.0 m
B B = il H= 0.90 m
gEREE = 0170 X 0170 X =z / = 0.023
=P = X X z / =
Im2%47
% EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
BHLEERR A T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
AT BHO.28m3
- E A - FEE A 1.00 X 0.60 X( 1.17 — 0.05 )= m3 0.67
T BHO.28m3
LRI AT 1.00 X 0.60 X 0.47 — 0.023 = m3 0.26
PHECT BHO.28m3
LN A 1.00 X 0.60 X 0.45 = m3 0.27
AT (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #EAs 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
LG T 4DT Al AL
FEAS 177 0.67 —( 0.27 = 0.90 )= m3 0.37
FELH T 4tDT
FEAS TAT7 W% 1.00 X 0.60 X 0.05 = m3 0.03
EIN
TAT7 /iR 0.03 X 235 = t 0.07
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No, 12
Wrigi#sS = ®&-2 DIPg150 L= 1.0 m
B B = il H= 110 m
gEREE = 0170 X 0170 X =z / = 0.023
BEHE = X X z /J 4 =
Im2%47
% EA H | & & =
BRI T
AsEFEEIK t=15cmIL T 1.00 X 2 = m 2.00
BHLEERR A T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
AT BHO.28m3
Wb A FEE £ 1.00 X 0.60 X( 1.37 — 0.05 )= m3 0.79
HHECT BHO.28m3
L NFRED AR 1.00 X 0.60 X 0.47 — 0.023 = m3 0.26
PHECT BHO.28m3
L NFEED TN A 1.00 X 0.60 X 0.65 = m3 0.39
TSI T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #EAs 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
FELH T 4DT mElt+ mHEt
FEAA 1+ 0.79 —( 0.39 = 0.90 )= m3 0.36
FELH T 4tDT
FEAS TAT7 W% 1.00 X 0.60 X 0.05 = m3 0.03
EIN
TR/ 0.03 X 235 = t 0.07




T I #% E & & EBE
No, 13
BrEidE s = @  VPg150 L= 1.4 _m (KGR
B B = il H= 0.90 m
sERE = 0170 X 0170 X x / 4 = 0.023
o e = 1000 X 0.330 X 1.000 = 0.330
1572450
% B EA H | & & i =
BRI T
AsBHIERR t=15cmbL T 140 X 2 + 140 X 2 = m 5.60
BT 1
AsBHEER t=10cmll 1.40 X 140 = m2 1.96
A T BHO.28m3
B LI - - BEE - 1.40 X 1.40 X( 1.32 — 0.05 )— 0.023 =| m3 2.47
HHE T BHO.28m3
LN AR 1.40 X 1.40 X 0.62 — 0.023/2 — 0.330 =| m3 0.87
PHECT BHO.28m3
BN FEAE A 1.40 X 1.40 X 045 = m3 0.88
RS T (RC-30)
t=10cm 1.40 X 1.40 = m2 1.96
/BT (RM-30)
t=12cm 1.40 X 1.40 = m2 1.96
BRIBTITE H (A #EAs 1 Smm, A 77)
t=3cm 1.40 X 1.40 = m2 1.96
FELH T 4tDT EELT WAL
FBUAL | 2.47 —( 0.88 =+ 0.90 )= m3 1.49
FEFH T 4DT
TGS TR bEE 1.40 X 1.40 X 0.05 = m3 0.10
EIN:
TR77 /b 0.10 X 2.35 = ¢ 0.24




T I #% E & & EBE
No, 14
B S = DIP$ 150 L= 1.4 _m (FHAKLG7)
B B = il H= 110 m
sERE = 0170 X 0170 X x / 4 = 0.023
Wz R = 0.900 X 0.400 X 0.800 = 0.288
1572450
% B EA H | & & i =
BRI T
AsBHLERR t=15cmL T 140 X 2 + 140 X 2 = m 5.60
BT 1
AsBHEER t=10cmll 1.40 X 140 = m2 1.96
A T BHO.28m3
B LI - - BEE - 1.40 X 1.40 X( 1.57 — 0.05 )— 0.023 =| m3 2.96
HHE T BHO.28m3
LN AR 1.40 X 1.40 X 0.67 — 0.023/2 — 0.288 =| m3 1.01
PHECT BHO.28m3
BN FEAE A 1.40 X 1.40 X 0.65 = m3 1.27
TSI T (RC-30)
t=10cm 1.40 X 1.40 = m2 1.96
/BT (RM-30)
t=12cm 1.40 X 1.40 = m2 1.96
BRIBTITE H (A #EAs 1 Smm, A 77)
t=3cm 1.40 X 1.40 = m2 1.96
FELH T 4tDT EELT WAL
FBUAL | 296 —( 1.27 + 0.90 )= m3 1.55
FEFH T 4DT
TGS TR bEE 1.40 X 1.40 X 0.05 = m3 0.10
EIN:
TR77 /b 0.10 X 2.35 = ¢ 0.24




FOKE SRR T MEEFER  No7
Bl Sl Ok =1 Y BN & FEHE
AsEidE (5-10-10) AEHGE (t=5cm) 46.0 AsEEF
Al AT 1A A AsElizE (3-10) i ARE
LRSS HESN B2 IR B0 BT AsEHEERR « t=10cmPA T HiE 4.6 S &t m 4.6 5
S R A Bl AE R EREE LTHEE BmEEELY 13.1 of +
AL . TS B
(rase - WEEE  |yeym (rame F TR E BEEIR LY +
FAKE AL +THEHE BERERSLY 3.1 of +
(5-10-10) BRI (A LT R BEREINLY 26,4 of + it
Sk R [Tt A3 (t=5en) WAEAMINER 6.0 - (RHEEER 42,6
L ES AsEHZERR - t=10emA T E#GE 46,0+ HEANE + m2 46.0 16
gnﬁwﬂfi (A o ¢ ~§$~§ RS WA
BOER S B EIE 426 X 0.03 + 3.4 % 0.05
— B PR
AT AR 1.4 X 92.35 t/m3  + x 3.3 ¢ 3.3 3.3
+T Eaell] HmdmE (7% L0) BIHEAsRAREE  42.6 X 0.02 + m3 0.9 0.9
AL A m3 0.9 0.9
T T AN m3 0.9 0.9
BEEAREINT | REEEIE AR T - AlEA WL 8m| TOE BB A EAE IH m2 46.0 16
R (i) FPRERLE (20 1o\ i A 1 w2 | 46.0 16
X[ AR T T 2 X e TE#E « Hf - W=15cmffaf + m




i OE 1 mEEAmE B OB OE hamw
[As t=5cm (5-10-10)] A2 m A SHIEARIE IR AsUIlT
i Py i3 W ¥ M FER ES o Y ik &
Hh 2 75255 4. 60
10. 0 4. 60 4. 60 46. 00 4. 60 1 4. 60
&t 46. 00 4. 60




HPPE ¢ 150mmEc K EfRER T HEBFHES

ek &M #Y:0.70m~1.30m NO. 1
& 4 R
I & _# BRTE Bl 5 & sHE B _F
KEEKE R EFZOMES EREE(1) i
H# RYIFLUE ¢ 150 X 5,000 P 13| 5.000 5000 x( 7 + 6 = 65.000
KEEKER IL-VIVNEE
RYTFLUE ¢ 150 X 5,000 PN 3 yERELY = 13376 UIEM
RYIFLUER s
EF22° 1/2_RUK $150%x22° 1/2 | {& 4 0.380 0380 x( 2 + 2 = 1520
RYIFLUER s
EF45° RUK ¢ 150 x 45° & 2 0.460 0460 x( 2 + = 0.920
RYIFLUER s =
F—X $ 150 % ¢ 100 & 1/ 0500 0500 x( 1 + = 0.500
RYIFLUER
PEELOMTEE $150% ¢ 75 & 1 0.930 0930 x( 1 + = 0930
RYIFLUER
LTFa—Y ¢ 150 X ¢ 100 & 1/ 0480 0480 x( 1 + = 0.480
RYIFLUER
EFY4 vk ¢ 150 e 1 1 = 1
PEFEO{Y7h - LA EDF ¢ 150 & 1.020 1.020  x( + =
PEP x PEP
PP3f Uk ¢ 150 & 2| 0.056 0056 x( 2 + = 0.112
¢25-Z%
EEERRSEESS  NONEHRE-TSK | H 1 1
¢ 75-H150- 75Kz = 2
F-VEEES FCD | RS EE LV - & 1 1
wWwesA
17VV e R ¢ 75-7.5K & 1 1
RF-GF
EAMITVY N Ayb b 75-7.5K " 1 1
¢ 75-7.5K
TSUOMFH GFfzh AryhsUS304-BN | #E 1 1
BEEER = 82.838
ERIER Tt
ERRT—F W=50 m 82.8 82.838 - = 82.838
BEIREHER)—D ¢ 150 m | 109.4 ( 82838 - x[{60x( 1+ 01) =+ 51} = 109.350
100mZ Y
2EWER)-TRT-T m 69.3 82838 x 836 ~ 100 = 69.253
FILZ FHEIER  HUR
HERAZHE —b W=150 2% m 82.6 82589 - = 82589
¢ 500 H=0.70
ERFEANKE Af35 & 1 1 = 1
ERFHA ¢ 500
Ly uik'yhR L EBEE H=200 & 1 1 = 1
ERFHA ¢ 500
LY Uik'ygR thEREE H=100 1& =
ERFHA ¢ 500
LY Uik'ygR TERE H=300 & 1 1 = 1
ERFHA ¢ 500
Ly uik'yhR JE&F () H=40 | {& 1 1 = 1




HPPE ¢ 150mmEc K EfRER T HEBFHES

8- 0 F HPPE ¢ 150mm;:L=82.838m (82.589m) (356, W EIME T :L=32.471m(32.471m))

ek &M #Y:0.70m~1.30m NO. 1
& 4 R
I/ g _# BRTZE g % & B _Z
FE ERT)
RbE Tt KEET
RUIFLUEREMNT ¢ 150 m 50.4 82.838 — — 32471 = 50.367
FhiE
RUIFLUERMNT ¢ 150 m 32.5 32471 = 32471 WREEL
(1O#%F) FOEE 22 45
EF#tF T $ 150 AT 18 7 + 2 x 2+ 2 x 2
-2 VT2t
1 X 2 + 1 = 18
(1a#F) ZOEY 22
EFf#FE T ¢ 150 AT 100 6 + 2 x 2 = 10 REBL
O#F) Yok
EF#¢F T $ 150 AT 1 1 + = 1
DEEELY wREET
RYIFLUEYIMT ¢ 150 m| 71 8 — 1 = 7
wREET
RUIFLUOEYMT ¢ 150 [m] 1 1 = 1 &EBT
ERF
ITS5VOMFT ¢ 75 A 1 1 = 1
RYIFLUE PPy '3{Ub
AN=HILBFT ¢ 150 =] 4 2 x 2 = 4
RYIFLUE PEiE
AA=HIBFERIALT ¢ 150 =] 1 1 = 1
ERAZET 25 #® 1 1 = 1
wREET
ERRT—F W=50 m 504 82.838 — 32.471 = 50.367
ERRT—F W=50 m 325 32.471 = 32471 7HRET
wREET
BHIRBHER)—THEL ¢ 150 m 50.4 82838 — 32471 = 50.367
BEIRBEHER) —JHETL ¢ 150 m 325 32471 = 32471 WHWREEL
FILZ RREET
HERAZHE —b W=150 2% m 50.1 82589 — 32.471 = 50.118
FILZ
BEEHE— W=150 24 m 32.5 32471 = 32471 HHEEI
BAKHEBRT BRER Bk m 82.8| 823838 = 82.838
¢ 500
ERARABEEMGT A#3E (&7 1 1 = 1
ERFHA ¢ 500
LY URyIAER T LEREE H=200 & 1 1 = 1
ERFHA ¢ 500
LY URyIAER T hEfEE H=100 1& =
ERFHA ¢ 500
LY URyIAER T TEBEE H=300 & 1 1 = 1
ERFHA ¢ 500
LY URyIAER T JE&F () H=40 | {& 1 1 = 1
[£T]
® 150 BREE (1) ERER (1)
EEl L TD-3 BESHE m 393 251 + 142 = 393
¢ 150 EREE (1)
EEILTR-3 BEHEE m 10.8 10.8 = 108
¢ 150 BREE (1)
fEEI £ T BEHE m 32.5 32.5 = 325 | TRET




Bi7k%& HPPE ¢ 150 )& FHE BoNOVESTE RO = ZEVE = 0.35m
9 . )
it | oo
W He K| E S |IEE BRI OE S |IBE B OE S|IBE BRE SIES BROE S

1 PP 2045 3 PP 0515| 8 PP 2.030 459 | o410| 3

2.05 052  2.03 7 7% 7%
2 | pp 1711] 6 | PP 0.389] 4 <EIEFJ) 1711 3811 1189 3

171 039 171 7% 7 7% Gl

5 PP 3001 7 PP 1974 4975 | 0025 | 2

3.00 1.97 23 5% 7% 53

TV —r T RNE® HPPE ¢ 150 L = 5,000 3 i 13.376| 1.624| 8




%6

mELtT Y I
I O e e e R | I RO o v 2 e B
+1T O-3
BUE ) - 0.70 - —
2.291 0.70 0.70 1.604
2.091 0.70 0.70 1.464
20.705 0.70 0.70 14.494 25.087
— 0.70 — —
14.217 0.70 0.70 9.952
0.600 1.30 1.00 0.600
6.883 1.30 1.30 8.948 21.700
& 8 46.787 37.062 & 8 — —
LTER = 46.787 m LTER = — m
PR Y = 37.062 + 46.787 = 0.79 m P Y = — m




T I ¥ R K i %
No. 1 NO. 1 TI®D-3 NO. 2 +I®-3 NO. 3 NO. 4
150mmHPPEBE K & 39.3 =ERL 0.8 =EE L SEE L SEE L SEE L SEE L SEE L CER L
SEE L SEE L SEE L SER L SER L SER L SER L SER L
£ i i 1 & & BER=

AsFHZERR )¢ )

SEUMT t=15cmA T m
AsFH%E IR K )

SHERREFA T [t=10cmA T m2
BHO. 28m3 0.50 19. 65 0.68 7.34 26.99 )l ( 30)

AR R T ME L m3
BHO. 28m3 0.20 7.86 0.20 2.16 10.02 )| ( 10)

HHERT BER m3
BHO. 28m3 0.28 11.00 0.45 4.86 15.86 )| ( 20)

HERT HESL m3
(RC-30) )¢ )

TREERET t=10cm m2
(RM-30) )¢ )

LRERET t=12cm m2
BEZHAs13mm K )

B R 18 16 t=3cm m2
ERitunsT 0.19 1.47 0.18 1.94 9.41 ) ( 9)

(£8) 41DT m3
BimsT ) ¢ )

(AS) 4tDT m3,
ZAE )¢ )

ASH% t




+ I # it B =
No, 1
WA =  (@D-3 HPPE# 150 L= 39.3 m
Bt B = Rl H= 0.79 m
EHEEE = 0180 X 0180 X x / = 0.025
=P = X X z / =
Im2%47
% EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 0 = m 0.00
BHLEERR A T
AsBHEER t=10cmll 1.00 X 0.00 = m2 0.00
AT BHO.28m3
- E A - FEE A 1.00 X 0.60 X( 0.97 — 0.13 )= m3 0.50
T BHO.28m3
LRI AT 1.00 X 0.60 X 0.38 — 0.025 = m3 0.20
PHECT BHO.28m3
LN A 1.00 X 0.60 X 0.46 = m3 0.28
AT (RC-30)
t=10cm 1.00 X 0.00 = m2 0.00
LS T (RM-30)
t=12cm 1.00 X 0.00 = m2 0.00
BRIBTITE H (A #EAs 1 Smm, A 77)
t=3cm 1.00 X 0.00 = m2 0.00
LG T 4DT Al AL
FEAS 177 0.50 —( 0.28 = 0.90 )= m3 0.19
FELH T 4tDT
FEAS TAT7 W% 1.00 X 0.00 X 0.00 = m3 0.00
EIN
TAT7 /iR 0.00 X 235 = t 0.00
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No,2
Wrigids =  (@-3 HPPE#150 L= 10.8 m
B B = SR H= 1.30 m
EHEEE = 0180 X 0180 X x / = 0.025
BEHE = X X z /J 4 =
Im2%47
% EA H | & & i =
BRI T
AsGEEK t=15cmLL 1.00 X 0 = m 0.00
DHRERRARA R T
AsBHEER t=10cmll 1.00 X 0.00 = m2 0.00
AT BHO.28m3
Wb A FEE £ 1.00 X 0.60 X( 1.48 — 0.35 )= m3 0.68
HHECT BHO.28m3
L NFRED AR 1.000 X 0.60 X 0.38 — 0.025 = m3 0.20
PHECT BHO.28m3
L NFEED TN A 1.00 X 0.60 X 0.75 = m3 0.45
TSI T (RC-30)
t=10cm 1.00 X 0.00 = m2 0.00
/BT (RM-30)
t=12cm 1.00 X 0.00 = m2 0.00
BRIBTITE H (A #EAs 1 Smm, A 77)
t=3cm 1.00 X 0.00 = m2 0.00
FELH T 4DT mElt+ mHEt
FEAA 1+ 068 —( 0.45 = 0.90 )= m3 0.18
FELH T 4tDT
FEAA TAT7 MR 1.00 X 0.00 X 0.00 = m3 0.00
EIN
VeSS 0.00 X 235 = ¢ 0.00




T I ¥ R K i %
No. 1 NO. 1 TI®D-3 NO. 2 NO. 3 NO. 4
150mmHPPEEE K & 325 =ERL 0.8 =EE L SEE L SEE L SEE L SEE L SEE L CER L
[T ) SEE L SEE L SEE L SEE L SEE L SEE L SEE L SEE L
£ i i 1 & & BER=

AsEliZEhR 2.00 65.00 65. 00 ) ( 65 )

SEUMT t=15cmA T m
AsEiZEhR 0.60 19.50 19.50 )| ( 20)

SHERREFA T [t=10cmA T m2
BHO. 28m3 0.45 14. 63 14.63 )| ( 10)

AR R T ME L m3
BHO. 28m3 0.20 6.50 6.50 ) ( 1)

HHERT BER m3
BHO. 28m3 ) ¢ )

HERT HESL m3
(RC-40) 0.60 19.50 19.50 )| ( 20)

TREERET t=15cm m2
(RM-30) 0.60 19.50 19.50 )| ( 20)

LRERET t=10cm m2
B FRHL A s20mm 0.60 19.50 19.50 )| ( 20)

B R 18 16 t=5cm m2
BEZH As20mm 0.60 19.50 19.50 )| ( 20)

B R 18 16 t=5cm m2
BitunT 0.45 14. 63 14.63 )| ( 10)

(£8) 41DT m3
BitunT 0. 06 1.95 1.95 ) ( 2)

(AS) 4tDT m3,
ZAE 0.14 4.55 4.55)( 4.6)

ASH% t




T I & E § E E
No, 1
Wrigis 5 = -1 HPPE$ 150 L= 32.5 m [#Rw 1]
Bt B = R H= 0.70 m
EHRE = 0180 X 0180 X 1 / = 0.025
=P = X X z / =
Im2%7
% EA H | & & =
BRI T
AsEHHEIR t=15cmEL T 1.00 X 2 = m 2.00
BT 1
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
et 1. BHO.28m3
1 P E A - BEE A 1.00 X 0.60 X( 0.88 — 0.13 )= m3 0.45
HEEZ 1. BHO.28m3
SN D AR 1.00 X 0.60 X 0.38 — 0.025 = m3 0.20
PHECT BHO.28m3
SNl TS A 1.00 X 0.60 X 0.00 = m3 0.00
AT (RC-40)
t=15cm 1.00 X 0.60 = m2 0.60
LS T (RM-30)
t=10cm 1.00 X 0.60 = m2 0.60
FRIETIE I (A 1 As20mm, A 7))
t=bcm 1.00 X 0.60 = m2 0.60
BEIBTITE IH (A # T As20mm, A 77)
t=bcm 1.00 X 0.60 = m2 0.60
T 1. 4DT wmElE WAL
FHAH L4 0.45 —( 0.00 = 0.90 )= m3 0.45
FELH T 4tDT
FHIAB TAT7 ik 1.00 X 0.60 X 0.10 = m3 0.06
BN
TR /P 0.06 X 235 = t 0.14




f5KE (6 100mm) L HEFEE
EfE-Of%:PEP ¢ 25mm X 18T
PEP ¢ 20mm X 95 Fly
Rl 1Y :0.60m NO. 5
& 4 R
IiE g _# BRTZE g % & B _Z
H#
FVIFLUEF (EEkE) A4 B447°
YRILIF KR @100 % ¢ 20 = 9 5 + 4
FVIFLUE F (BEkE) A4 B447°
YRV KEE $100x ¢ 25 = 1 1 +
20 ®25
KRR YIR FCD ZRHE & 6 5 4+ 1 6
B tth N AR K SR fm A1 4 20 = 1
FE (EHT)
KUIFLVE A
DIKBRETAAT $100%x ¢ 20 AT 9
FIIFLVER
NKERETAAT @100 % ¢ 25 (&7 1
EHE
MIf AS47 AS47 AR47’ HHIEB>4m
FRKEERT PEP ¢ 20 &R 5 L=2.8m x 3 + L=34m + L=4.8m L=3.3m
M IR BEER) B447 B447 EBHIEB>4m
HKEERT PEP ¢ 20 (&7 4 L=15m x 3 + L=6.4m L=2.7m
MIi AR47’ EEEIEB>4m
FRKEERT PEP ¢ 25 &R 1] L=3.4m L=3.4m
B NFAKER BT $20 &1 1
(1]
20
#WAKEITD BESE m 111 12 x 3 + 25 x 3 1.1
20
#WAKEIQ MEEE m 96 35 + 6.1 9.6
$20- 25
#BKEI® MEEE m 62 31 x 2 6.2




T I ¥ R K i %
No.5 NO. 1 TI® NO. 2 TI® NO. 3 TI@ NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
HAKE (B100) 7HiR .1 =EEL 9.6 =EEL 6.2 =EEL SEE L SEE L SEE L SEE L SEE L
SEE L SEE L SEE L SEE L SER L SER L SER L SER L
£ i i 1 B BER=

AsEliZEhR 2.00 12.40 ( 12.40)( 12)

SEUMT t=15cmA T m
AsEiZEhR 0.50 3.10 ( 3.10 ) ( 3)

SHERRFEFA T [t=10cmA T m2
BHO. 13m3 0.25 2.78 0.19 1.82 0.35 2.17 ( 6.77 )| ( 1)

AR R T ME L m3
BHO. 13m3 0.1 1.22 0.1 1.06 0.14 0.87 ( 3.15)]( 3)

HHERT BER m3
BHO. 13m3 0.14 1.55 0.08 0.77 0.09 0.56 ( 2.88)( 3)

HERT HESL m3
(RC-30) 0.50 3.10 ( 3.10 ) ( 3)

TREERET t=10cm m2
(RM-30) 0.50 3.10 ( 3.10 ) ( 3)

LRERET t=12cm m2
BAZTHLAs13mm 0.50 3.10 ( 3.10 ) ( 3)

B R 18 16 t=3cm m2
ERitunsT 0.09 1.00 0.10 0.96 0.25 1.55 ( 3.51)( 4)

(£8) 2tDT m3
BitunT 0.03 0.19 ( 0.19)|( 0.2)

(AS) 2tDT m3,
ZAE 0.07 0.43 ( 0.43)|( 0.4)

ASH% t




+ T % it B &
No, 1
s = @D PEPp20 L= 11.1 m
Bt B = Rl H= 0.60 m
EHEEE = 0030 X 0030 X =z / = 0.001
=P = X X z / =
Im2%47
% EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X = m 0.00
BHEERR A T
AsBHEER t=10cmll 1.00 X 0.00 = m2 0.00
et 1. BHO. 13m3
- A - FEE A 1.00 X 0.50 X( 0.63 — 0.13 )= m3 0.25
HEEZ 1. BHO. 13m3
LRI AR 1.00 X 0.50 X 0.23 — 0.001 = m3 0.11
HEEZ 1. BHO. 13m3
LN A 1.00 X 050 X 0.27 = m3 0.14
AT (RC-30)
t=10cm 1.00 X 0.00 = m2 0.00
RS T (RM-30)
t=12cm 1.00 X 0.00 = m2 0.00
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.00 = m2 0.00
FEAL T 4DT Tt
FEAS 177 0.25 —( 0.14 = 0.90 )= m3 0.09
FELH T 4tDT
FEAS TAT7 Wik 1.00 X 0.00 X 0.00 = m3 0.00
BN
TAT7 /iR 0.00 X 235 = t 0.00




H
H
32
il
o
o
i

No,2
a5 = 3@ PEP$20 L= 9.6 m
B = il #l (R IX) H= 0.60 m
EHEEE = 0030 X 0030 X =z / = 0.001
EHE = X X z /J 4 =
Im2%47
% EA H | & & i =
BRI T
AsGEER t=15cmLL 1.00 X = m 0.00
BHEERR A T
AsBHEER t=10cmll 1.00 X 0.00 = m2 0.00
AT BHO. 13m3
Wb A FEE £ 1.00 X 0.50 X( 0.63 — 0.25 )= m3 0.19
HEECT BHO. 13m3
K NFRED AR 1.00 X 0.50 X 0.23 — 0.001 = m3 0.11
HEECT BHO. 13m3
LG TN A 1.00 X 050 X 0.15 = m3 0.08
AT (RC-30)
t=10cm 1.00 X 0.00 = m2 0.00
/BT (RM-30)
t=12cm 1.00 X 0.00 = m2 0.00
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.00 = m2 0.00
FEFH T 4DT mElt+ mHEt
FEAS 177 0.19 —( 0.08 = 0.90 )= m3 0.10
FELH T 4tDT
FEAS TAT7 Wik 1.00 X 0.00 X 0.00 = m3 0.00
EIN -
TR/ 0.00 X 235 = t 0.00




+ T % it B &
No,3
B &5 = @  PEP$20-425 L= 6.2 m
B s B = il H= 0.60 m
EHEEE = 0030 X 0030 X =z / = 0.001
=P = X X z / =
Im2%47
% EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
BHEERR A T
AsBHEER t=10cmll 1.00 X 0.50 = m2 0.50
AT BHO. 13m3
1 B A - BEE - 1.00 X 0.60 X( 0.63 — 0.05 )= m3 0.35
T BHO. 13m3
SN AR 1.00 X 0.60 X 0.23 — 0.001 = m3 0.14
T BHO. 13m3
SNl A 1.00 X 0.60 X 0.15 = m3 0.09
AT (RC-30)
t=10cm 1.00 X 0.50 = m2 0.50
RS T (RM-30)
t=12cm 1.00 X 0.50 = m2 0.50
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.50 = m2 0.50
LG T 4DT Al AL
FHAH L4 0.35 —( 0.09 = 0.90 )= m3 0.25
FELH T 4tDT
FFIAB TAT7 Nk 1.00 X 0.50 X 0.06 = m3 0.03
BN
TR/ 0.03 X 235 = t 0.07




BKE (6150mm) HRI HESHEBEE
ETE- O3 PEP ¢ 25mm X 187
R 1Y 0.60m NO, &5
g 4 R
TiE £ K TZE S % & H %
#H#
FYIFLE R (S8kEL)
YEILIF 5 KEE $150% ¢ 20 =
FYIFLYE A (e EY) A347° B447°
YEILIF 5 KEE $150% p 25 = 1 1
¢ 20 ®25
kR Y IR FCD =R H! & 1 1 1
FE (]
FYIFLVE A
DKBRETAHT ¢ 150X ¢ 20 G331
FYIFLVE A
DKBRETAHZT ¢ 150X ¢ 25 G331 1
EHE
MIH As47° EHIEB> 4m
EKEERT PEP ¢ 25 G150 1] L=2.0m L=2.0m
(£T]
¢ 25
#HWAKEID BESE m 17 1.7 1.7




T I ¥ R K i %
No.5 NO. 1 TI® NO. 2 NO. 3 NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
HKE (B150) 7HiR 1.7 =EE L SEE L SEE L SEE L SEE L SEE L SEE L SEE L
SEE L SEE L SEE L SER L SER L SER L SER L SER L
£ i i 1 B BER=

AsFHZERR ( )¢ )

SEUMT t=15cmA T m
AsFH%E IR ( K )

SHERRFEFA T [t=10cmA T m2
BHO. 13m3 0.25 0.43 ( 0.43)|( 0.4)

AR R T ME L m3
BHO. 13m3 0.1 0.19 ( 0.19)|( 0.2)

HHERT BER m3
BHO. 13m3 0.14 0.24 ( 0.24)|( 0.2)

HERT HESL m3
(RC-30) ( )¢ )

TREERET t=10cm m2
(RM-30) ( )¢ )

LRERET t=12cm m2
BEZH As13mm ( )¢ )

B R 18 16 t=3cm m2
BitunT 0.09 0.15 ( 0.15)|( 0.2)

(£8) 2tDT m3
BimsT ( ) ¢ )

(AS) 2tDT m3,
ZAE ( )¢ )

ASH% t




+ I # it B =
No, 1
s = @D PEPp25 L= 17 m
Bt B = Rl H= 0.60 m
EHEEE = 0030 X 0030 X =z / = 0.001
=P = X X z / =
Im2%47
% EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X = m 0.00
BHEERR A T
AsBHEER t=10cmll 1.00 X 0.00 = m2 0.00
AT BHO. 13m3
Wb A FEE £ 1.00 X 0.50 X( 0.63 — 0.13 )= m3 0.25
T BHO. 13m3
K NFRED AR 1.00 X 0.50 X 0.23 — 0.001 = m3 0.11
T BHO. 13m3
LG TN A 1.00 X 050 X 0.27 = m3 0.14
AT (RC-30)
t=10cm 1.00 X 0.00 = m2 0.00
/BT (RM-30)
t=12cm 1.00 X 0.00 = m2 0.00
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.00 = m2 0.00
LG T 4DT Al AL
FEAS 177 0.25 —( 0.14 = 0.90 )= m3 0.09
FELH T 4tDT
FEAS TAT7 Wik 1.00 X 0.00 X 0.00 = m3 0.00
EIN -
TAT7 /iR 0.00 X 235 = t 0.00




HRERNEL HEHES

R &M T #Y:0.90m~1.30m NO. 9
& 4 R
I/ g _# BRTZE g % & B _Z
23
FE € E |
ST
BRER BT T b75 =] 5.0 16.000 30 m/0 5
ST
B e T ¢ 100 [m] 27.0 83.000 30 m/0 27
ST
BB T ¢ 150 [m] 15.0 47.000 30 m/0 15
BEEE
B e T ¢ 150 [m] 4.0 12.000 30 m/0 4
ST
B ERET 75 m 16.0 16.0 16
ST
B ERET $ 100 m 83.0 830 83
ST
B ERET ¢ 150 m 470/ 470 47
BEEE
B ERET ¢ 150 m 120 120 12
BRtUAERET &1 4 4.0 4
BEEERLE 2BE B 1
BEEERLE HigE Bl 1
A9397° HHuE t | -3.568 3.568 3.568
A9597° EEE t 0.087 0.087 0.087
R (15%Z10) DIPE 18
MZHVEF T ¢ 100 A 1 1 1
HHG%ER
H# DIPF] i ¢ 100 1
fagtvy7 ®20 1& 1
(1]
¢ 150
BELTO-1 BEHEE m 17.0 17.0 17.0
¢ 100
BELITO-2 BEHEE m 830 830 83.0
¢ 75
BELITO-3 BEHEE m 16.0 16.0 16.0
¢ 150
BELTO-1 TEEE m 320 320 32.0
¢ 150
BELTO-2 TEEE m 12.0 12.0 12.0
¢ 150
SIgIEH T TO-1 HEEE m 0.6 0.6 0.6




T I ¥ R K i %
No. 9 HED-1 NO. 2 HED-2 NO. 3 #ED-3 NO. 4 HE-1 NO. 5 #MEQ-2 NO. 6 Syig k@1 NO. 7 NO. 8
HREMET SEE L 83.0 =R L 6.0 =EE L 320 =EEL 120 =EE L 0.6 =EEL SEE L SEE L
SEE L SEE L SEE L SER L SER L SER L SER L SER L
£ i i 1 & & BER=

AsEliZEhR 2.00 64.00 2.00 24.00 2.00 1.20 ( 89.20)( 89 )

SEUMT t=15cmA T m
AsEiZEhR 0. 60 19.20 0.60 7.20 0.50 0.30 ( 26.70 )| ( 27)

SHERREFA T [t=10cmA T m2
BHO. 28m3 0.74 12.58 0.84 69.72 0. 65 10. 40 0.71 22.72 0.59 7.08 (122.50 ) ( 120 )

AR R T ME L m3
BHO. 08m3 0.31 0.19 ( 0.19)|( 0.2)

AR R T MEL m3
BHO. 28m3 ( ) ¢ )

HERT BER m3
BHO. 28m3 0.76 12.92 0.85 70. 55 0. 65 10. 40 0. 61 19.52 0.49 5.88 (119.27)|( 120 )

HERT HEL m3
BHO. 08m3 0.22 0.13 ( 0.13)|( 0.1)

HERT HESL m3
(RC-30) 0. 60 19.20 0.60 7.20 0.50 0.30 ( 26.70 )| ( 27)

TRERET t=10cm m2
(RM-30) 0. 60 19.20 0. 60 7.20 (26.40)|( 26 )

LRERET t=12cm m2
(RM-30) 0.50 0.30 ( 0.30 ) ( 0.3)

LRERET t=10cm m2
BEZRH As13mm 0. 60 19.20 0.60 7.20 (26.40)|( 26 )

B R 18 16 t=3cm m2
BAZTHLAs13mm 0.50 0.30 ( 0.30 )| ( 0.3)

B R 18 16 t=5cm m2
ERitusT -0.10 -1.70 -0.10 -8.30 -0.07 -1.12 0.03 0.96 0.05 0.60 #1005/ [ -9.56 )( -10 )

(£8) 41DT m3
BitunT 0.07 0.04 (0.04 )| 0.04 )

(£8) 2tDT m3
EitusT 0.03 0.96 0.03 0.36 ( 1.32)|¢( 1)

(AS) 4tDT m3,
BitunT 0.03 0.02 ( 0.02 )| ( 0.02 )

(AS) 2tDT m3,
ZAE 0.07 2.24 0.07 0.84 0.07 0.04 ( 3.12)]( 3.1)

ASH% t




T I #% E & & EBE
fé?i\b NO,]
BrgiEs = @O-1 DIP$150 L= 17.0 m
Brigid B = REHE H= 110 m
gEREE = 0170 X 0170 X =z / = 0.023
=P = X X z / =
Im2%47
% B EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 0 = m 0.00
LN T
AsBHEER t=10cmll 1.00 X 0.00 = m2 0.00
A T. BHO.28m3
BRI A BEE - 1.00 X 0.60 X( 1.27 — 0.00 )— 0.023 =| m3 0.74
HHEE T BHO.28m3
LLNFEESD AR 1.00 X 0.00 = m3 0.00
HHEE T BHO.28m3
LGRS FAE A 1.00 X 0.60 X 127 = m3 0.76
TSI T (RC-30)
t=10cm 1.00 X 0.00 = m2 0.00
/BT (RM-30)
t=12cm 1.00 X 0.00 = m2 0.00
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.00 = m2 0.00
LML 4DT wmElE WAL
FBUAL | 0.74 —( 0.76 =+ 0.90 )= m3 -0.10
FE T 4DT
TGS TR 1.00 X 0.00 X 0.00 = m3 0.00
EIN:
TR77 /b 0.00 X 235 = ¢ 0.00




T I #% E & & EBE
fé?i\b NO,2
BrgiEs = A2 DIP$100 L= 83.0 m
Brigid B = REHE H= 1.30 m
gEHEE = 0120 X 0120 X =z / = 0.011
=P = X X z / =
Im2%47
% B EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 0 = m 0.00
LN T
AsBHEER t=10cmll 1.00 X 0.00 = m2 0.00
A T. BHO.28m3
BRI A BEE - 1.00 X 0.60 X( 1.42 — 0.00 )— 0.011 =| m3 0.84
HHEE T BHO.28m3
LLNFEESD AR 1.00 X 0.00 = m3 0.00
HHEE T BHO.28m3
LGRS FAE A 1.00 X 0.60 X 142 = m3 0.85
TSI T (RC-30)
t=10cm 1.00 X 0.00 = m2 0.00
/BT (RM-30)
t=12cm 1.00 X 0.00 = m2 0.00
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.00 = m2 0.00
LML 4DT wmElE WAL
FBUAL | 084 —( 0.85 =+ 0.90 )= m3 -0.10
FE T 4DT
TGS TR 1.00 X 0.00 X 0.00 = m3 0.00
EIN:
TR77 /b 0.00 X 235 = ¢ 0.00




T I #% E & & EBE
e No, 3
WrgEsS = @-3 DIPp75 L= 16.0 m
Brigid B = REHE H= 1.00 m
EHEEE = 0090 X 009 X =z / = 0.006
=P = X X z / =
Im2%47
% B EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 0 = m 0.00
LN T
AsBHEER t=10cmll 1.00 X 0.00 = m2 0.00
A T. BHO.28m3
BRI A BEE - 1.00 X 0.60 X( 1.09 — 0.00 )— 0.006 =| m3 0.65
HHEE T BHO.28m3
LN AR 1.00 X 0.00 = m3 0.00
HHEE T BHO.28m3
BN FEAE A 1.00 X 0.60 X 1.09 = m3 0.65
TSI T (RC-30)
t=10cm 1.00 X 0.00 = m2 0.00
/BT (RM-30)
t=12cm 1.00 X 0.00 = m2 0.00
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.00 = m2 0.00
LML 4DT wmElE WAL
FBUAL | 065 —( 0.65 =~ 0.90 )= m3 -0.07
FE T 4DT
TGS TR 1.00 X 0.00 X 0.00 = m3 0.00
EIN:
TR77 /b 0.00 X 235 = ¢ 0.00




T I #% E & & EBE
S Nod
WS = @-1 VPp150 L= 32.0 m
Brigid B = B #aE H= 110 m
gEREE = 0170 X 0170 X =z / = 0.023
=P = X X z / =
Im2%47
% B s = E H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
LN T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
A T. BHO.28m3
BRI A BEE - 1.00 X 0.60 X( 1.27 — 0.05 )— 0.023 =| m3 0.71
HHEE T BHO.28m3
LN AR 1.00 X 0.00 = m3 0.00
HHEE T BHO.28m3
BN FEAE A 1.00 X 0.60 X 1.02 = m3 0.61
TSI T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
LML 4DT wmElE WAL
FBUAL | 071 —( 0.61 = 0.90 )= m3 0.03
FE T 4DT
TGS TR 1.00 X 0.60 X 0.05 = m3 0.03
EIN:
TR77 /b 0.03 X 235 = ¢ 0.07




T I #% E & & EBE
&5 No.5
WrEEE = @2 VPpl50 L= 12.0 m
Brigid B = B #aE H= 0.90 m
gEREE = 0170 X 0170 X =z / = 0.023
=P = X X z / =
Im2%47
% B EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
LN T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
A T. BHO.28m3
BRI A BEE - 1.00 X 0.60 X( 1.07 — 0.05 )— 0.023 =| m3 0.59
HHEE T BHO.28m3
LN AR 1.00 X 0.00 = m3 0.00
HHEE T BHO.28m3
BN FEAE A 1.00 X 0.60 X 0.82 = m3 0.49
TSI T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
LML 4DT wmElE WAL
FBUAL | 059 —( 0.49 < 0.90 )= m3 0.05
FE T 4DT
TGS TR 1.00 X 0.60 X 0.05 = m3 0.03
EIN:
TR77 /b 0.03 X 235 = ¢ 0.07




T I #% E & & EBE
ﬁ/&lﬁ NO,5
WS = @1 SPg150 L= 0.6 m
Brigid B = B #aE H= 0.60 m
sERE = 0170 X 0170 X x / 4 = 0.023
EREEE = 0023 [/ 2 = 0.012
Im2%47
% B EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
LN T
AsBHEER t=10cmll 1.00 X 0.50 = m2 0.50
A T. BHO.08m3
BRI A BEE - 1.00 X 050 X( 0.69 — 0.05 )— 0.012 =| m3 0.31
HHEE T BHO.08m3
LLNFEESD AR 0.00 X 0.00 = m3 0.00
HHEE T BHO.08m3
LGRS FAE A 1.00 X 050 X 044 = m3 0.22
TSI T (RC-30)
t=10cm 1.00 X 050 = m2 0.50
/BT (RM-30)
t=10cm 1.00 X 050 = m2 0.50
BRIBTITE H (A #As 1 Smm, A 77)
t=bcm 1.00 X 050 = m2 0.50
LML 2tDT wmElE WAL
FBUAL | 0.31 —( 0.22 =+ 0.90 )= m3 0.07
FEH T 2tDT
TGS TR 1.00 X 050 X 0.05 = m3 0.03
EIN:
TR77 /b 0.03 X 235 = ¢ 0.07
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